- FindWay

FindWay Hydraulic Parts Systems ltd.

A6V Variable Displacement Motor

B
o HERDEREHTRRIZH OMRENIRITH.
o BAKXWTTEE Vmax/Vmin=3. 47 KIBEEIEH LK.

L -¥
« ARpafEsRARANETHER
o REIEHITA SRR R ENET
o FEBU/INRORR M T R 0 1 460 L R
« BFTREIORERMTHERA
o HHBRILERED
o SERE
o RFERIPRBNE
o fEiEREAE
. BHE
o BRI FE
o pMRE

Description

The variable displacement motor was designed especially for hy-
drostatic drives with secondary controls.

A complete control assembly for a maximum swivel range of Vimax/
Vmin=3.47 is fitted.

Special Characterisics

Large control range with hydrostatic transmissions.
Secondary control regulation with various control devices.
Increased maximum output.speeds at reducing swivel angle.
Cost-saving due to the possibility of using smaller pumps.
Obviates the multispeed ratio gear drives.

High power density.

Optional mounting position.

High efficient.

Excellent starting characteristics.

Low inertia..

MR ETHRE (PR
Adjustment Screw for Swivel Angel Limitation

i« with protective cap )

EI{%
Cylinder

Email: info@unihydraulic.com

Bl £
Control Lens

~ HMESWERE EirE)
Setting Screw for start of control

TREE
Positioning Piston

Website: www.unihydraulic.com




- FindWay

FindWay Hydraulic Parts Systems ltd.

M| Calculation of size
s = Vg-n [1/min]
Swept Volume 1000- n
Wil o MR Ry [r/min]
Output Speed Vg
e __Ve-Ap-ng,
Output Torque 2=
1.59vg. .
1WgLp N (Nm)
10
K,-Ap-n
Hor I e LTS [Nm])
10
M.n
il P o519 kW]
Output Power . BEAG: N,
60
Ve= i KHHR (ml/r)  maxgeometry displacent(ml/r]
M= %8 (Nm) torque{Nm}
Ap=[E%£ (MPa) differential peessure[MPa]
n=$¢& (r/min) specd|/min}
nv=8RHE volumetric efficiency
n mh=HRME mechanical-hy draulic efficiency
ns= 2HE overall effciency

ERBER:

R Size 28 58 80 107 | 160 228 250 468
FRAR Control Device
HD 0% B Hydraulic control pilot pressure related . . .
HS A2 (TUR) T M Hydrulic control(two speed).pilot pressure related
HA B A 3% R Avtomatic controLhigh pressure related 0 . s 3 >
DA $$:2812% B Hydraulic control.speed related
ES B2 (FE) TR/ Electric control(two speed) . . .
EP 42 (teH) TR Electric control(proportion)
MO 8% Bl Mooring control . 5 - 2
MA F2E B Manual control
#2 Displ Vgmax mlr 281 | S48 | 80 107 | 160 | 225 250 468
Vgmin mbr 8.1 158 | 23 30.8 46 64.8 0 135
B X S35 % B Max Permissible.Swept volome Qgmax L/min 133 | 206 | 268 | 321 | 424 | S30 590 889
BN Ma specds (Z ot Qmas ) nmax £ at Vgmax t/min 4750 | 3750 | 3350 | 3000 | 2650 | 2360 2360 1900
nmax % at Vg < Vgmax vmin | 6250 | 5000 | 4500 | 4000 | 3500 | 3100 | 3100 | 2500
ISR Torque constants M_£E at Vgmax Nm/MPa | 4463 | 8701 | 1275 | 1697 | 2541 | 3571 | 3979 7441
M, & at Vgmin NmMPa | 1285 | 2510 | 373 | 49 | 735 | 1030 | 1146 2147
M, % at Vgmax Nm 156 | 304 | 446 | s94 | 889 | 1250 1391 2604
S M e (I 8 p3sMAPe) M, & st Vgmin Nm | 45 | 88 | 130 | 171 | 257 | 360 | ;0 | 751
BAMEINE (F 35MPa F2 Qmax ) Max.output power(at 35MPa and Qmax) KW 78 120 | 156 | 187 | 247 309 335 519
REIE Moment kgm® 10,0017 0.0052 | 0.0109 | 0.0167 | 0.0322| 00532 | 00532 | 0.025
ER Weight kg 18 27 39 52 7 103 103 223

Email: info@unihydraulic.com

Website: www.unihydraulic.com




FindWay Hydraulic Parts Systems ltd.

A6V Variable displacement motor
TSR T % 52304#828~250 Unit Dimensions Series 2 size 28~250

HDFIHAREH128) Ak,
HD Control Assembly type 2
- Al
A2 R
Z Splined shaht DINS480 t‘ e .
e MOS80 e = 71
SHMGBIMTE1-83 Ly AS o
) oA - 4 \
AB L o A7 ‘ ‘
\ Aei_T]_‘_ magl 7| ‘ | G Rriug
fvng”\ —ﬂ_ ‘5 /f,/_! i,.‘
< 163 o=
3 | ofte | £ 3 3
E ’_ ‘ : 3 el /3 ==
u‘__/: i F -‘T" \\\\".;’ ©
Al 3 ] T { § 2
[~ I K\ 3T
2”!‘_‘15 /’, "( ’/, "‘. *‘\“ | -
s [/ /] \
T e
Uiy
HDFIHATE$) 188 A

HD Control and HD Control Assembly type 1

ELFEH1 BB AL ELIZ BB B Ak
EL Control Assembly type 1 EL Control Assembly type 2

Email: info@unihydraulic.com Website: www.unihydraulic.com




FindWay Hydraulic Parts Systems ltd.

SR T & 5I231#28~250 Unit Dimensions Series 2 size 28~250

DA BI28 B AB .;i;h gﬁ i AB Prassure Port
Control Asse G #7T G port for synchronous control
DA mbly type 2 ; GREHEN of multiple units and for remote control pressure
/ X &SN X Pilot Pressura Port
T BEian T Dran Port
Z[5) Z Direction

FFOA B
X 2HE[ENH
for DA control
X152 Piot Pressure Port
AFMORS
X1 Bhi@Rmo
For MO conirol

X1 Pressure relief vahve Port

MAGE #1525
MA Control Assembly type |

H% Size Al A2 A3 M A5 AR AT AR A9 AID AN AR A13 A4 AIS A6 AIT A A9 A0 AR
28 M9 23 206 189 W7 75 16 % 8 15 19 43 MiGx15 508 20 00 M8 215 1 50 57
55 2 A B M9 123 W8 2N 2 10 7 ] Migx15 508 20 125 M12 2% 40 8 82
80 B M5 36 A7 152 W@ A ® w0 7 B 4 MiBx15 572 25 140 Mi2 3 4 71 5
107 B B I M 145 130 B 40 10 75 i) 45 M18x 15 512 5 160 M2 3B 49 80 63
160 440 412 3T B 213 1% A M N5 75 k] 50 M22x15 667 32 180 MB 40 57 &8 66
225 48 441 45 35 22 w2 3@ 50 12 N5 B 055 MZ22x15 687 32 200 MIE 452 61 9% T4
20 505 411 42 3B/ 10 1M B 50 12 = ¥ 2 m M2x15 86T 3 24 MIE 50 518 W00 150

% Size A2 A3 A A25 A AT FDeep AZB AZD A30 A3 AR ATl AM AT AN AT AB A A Ad1
28 64 Bl 238 45 10 M10 17 125 118 1 16 279 25 50 230 152 176 124 131 13 M2Tx2
55 60 B4 238 53 132 M0 17 60 150 135 w2 0m 0 60 301 208 235 13 141 153 MIdIx2
B0 ] 99 278 B4 150 M2 18 180 185 135 1M 3B ] 7O 353 282 A2 182 B 1T MA2k2
107 il 0 218 64 62 M2 18 200 190 175 1M 4 40 B0 357 250 288 64 173 188 M42x2
160 77108 318 70 182 M4 19 2M 210 175 208 485 45 90 423 025 338 1825 193 201 MMBx?
225 B 121 N8 T 1 M 1 250 23 2 26 S35 S0 00 41 324 38 20 211 219 MdAx?
250 i 211 N8 9 206 M4 2 280 252 2 22 535 50 B2 497 352 I 23 20 206  M4Bx2

% Size Ad2 A3 MM MM AM6E  A4T  AMB A0 ASD  ASY  AS2  ASE  AS4 ASS5  ASE  AST  ASB AS9  ABD  AB1  AB2
28 23 14 119 24 M 212 53 131 253 212 X9 53 73 - 144 29 102 - - - -
55 M 23 1@ 3 3 M4 48 124 37 22 ®8 & nm 7 46 @ M 31 08 24 13
B0 53 BT W8 240 22 3% 56 137 I 3% 32 56 77 83 152 3} 115 3BJ3 252 28 157
107 3BT X5 160 224 I 333 615 44 WO 3 3’5 81 88 152 3 115 37 A7 W3 1@
160 423 N3 17T H5 452 WE 0 130 442 387 33 6 B M 158 441 130 423 300 ;2 87
225 441 334 1% 284 481 414 T45 W4T 4T 46 4N 73 a5 - 158 470 135 441 32 34 X6
250 497 34 B3 391 514 3B 158 B0 481 332 W0 158 6T 172 - 510 250 497 382 I 243

BMSze | AB3 A4 MBS C1 €2 3 mlswm ﬁrﬂ'ﬁ" ‘t‘gp%:m{ a G X c3
28 - - - 12 12 08 e < 40 W25x1.25x18x9g  EXT18Z x 1.25M x 30R « 5 16° M12x15 M1dx15 18
55 10 155 3 15 18 15 e x50 W30 x2x 14x9g EXT147 x 2M = 30R x5 16°  Mdx15 Mlax1s5 27
B0 8 1M B’ 15 16 16 @10x5 W35 x 2% 16 x99 EXT16Z x 2M x 30R x5 16*° Mldx15 Mlax15 39
107 161 188 n 2 20 16 @263 W0 x 2 x 18.x 99 EXT18Z x 2M x 30R = 5f 16* M14x15 MWdx15 52
160 17 206 34 25 20 25 @ixT W45 x 2x 21 x8g EXT217 x 2M = 308 = 5 16°  Midx15 Mdx15 T4
225 197 25 M 4 2 25 @ax80 W50 x 2 x 24 x 9 EXT247 x 2M x 30R x 5f 16 MIZx15 Mi4xi15 103
20 20 2% - 4 K 25 W14 80 W50 x 2x 24 x 39 EXT247 x 2M x 30R x5 135  M12x15 M14x15 103

Email: info@unihydraulic.com Website: www.unihydraulic.com




FindWay Hydraulic Parts Systems ltd.

A6V Variable displacement motor

FTHSMERT R51M#5468 B B223Kg
Unit Dimensions Series 1 size 468 weight 223Kg

HD 228 B %
HD control Assembly 2

607

—- - 7
¥4

{£§2DIN5480
splined shaft DIN5480
W70 x3x22x9g

G % Plug

-
185 G ZiHESEY
T EREH®MO M22x 1.5
110 X  &£%H0 M16x 1.5
Y T B0 M33x 1.5

AB  Pressure Port
G  port for synchronous control
of multiple units and for
remote control pressure M22x 1.5
Pilot Pressure Port M16x 1.5
T Drain Port M33x1.5

HD #2138 8%
HD control Assembly 1

5y (B8 i

G %Plug

Email: info@unihydraulic.com Website: www.unihydraulic.com




FindWay
FindWay Hydraulic Parts Systems ltd.

T SMER T R 5113048468 W l223Kg
Unit Dimensions Series 1 size 468 weight 223Kg

ELiZ® 12 B8R ELiZ® 2B 2L
EL Control Assembly 1 EL Control Assembly 2

635

HA $2%) 1888
HA Control Assembly 1

278
287
308

J_i

- k T4 ¥%Plug
G ¥EPlug

Email: info@unihydraulic.com Website: www.unihydraulic.com




